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to rely exclusively upon indirect taxation. The has been raging about the expansionary effect 
effective control upon inflation, in fact, requires of a balanced budget. If, in an attempt to balance 

a judicious blend of both direct and indirect the budget, the additional public spending i 
matched with an equivalent amount of tax, the taxes. 

3. BALANCED BUDGET MULTIPLIER inference may be drawn that the overall effect 

We have examined so far the different balanced-budget theorem has underlined the methods through which the government in a multiplier effect of a balanced budget upon the 
country can bring about changes in the level of income. equilibrium level of income. A government can 

exert a decisive impact on the level of 
economic activity through expenditure on current conclusion that the expansionary effect of a 

upon income will be neutral. However, the 

The theorem in its simplest form gives the 

balanced budget upon income is exactly equal purchases, transfers and investment. However, 
most of the governments remained bound by to the amount of additional government spending 

the traditional principles of laissez faire and the or the additional tax. Alternatively it implies 
balanced budgets uptil 1930's. The spectre of that balanced budget multiplier is equal to 
inflation had horrified the classical writers so anity. The theorem is based on the following 
thoroughly that they always refrained from assumptions 
suggesting a budget deficit even during the 
periods of unemployment and depression. 
Brooman quotes a nineteenth century British expenditure are autonomously given. 
Chancellor of Exchequer in this context. He 
persisted that the budget is "an animal that needs taxes do not make any impact upon the 

a surplus."2 Two main arguments against the distribution of income in the community. budget deficit were the fear of inflation and the 
ncreased debt burden. The argument based 
n inflationary dangers presumes a state of full the current purchases of commodities and 

nployment and is untenable when thèreis services and does not include the transfer 

employment or depression. The second payments. 

( The private investment and govemment 
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When the net change in income is equal to changed exactly equal to the incremen. 

additional government spending (or direct government spending and additonal tax. 

If the governme- 
expenditure by 8G ane 
of tax (8T) in order te 
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mutiplier is equal to unity. This may be illustrated l. Balanced Budget Multiplier ias 

In the above analysis, the taxes vere 

assumed to be autonomous of income or thesa 

were regarded as the lumpsum taxes. But the 

tax revenues may vary directly with the chanpes 

with taxation), it means that the balanced budget 
Proportional Taxation 
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The effect of equivalent changes in in income as it happens in case of the proportional 

government spending and taxes can also be or progressive taxes. 

illustrated through Fig. 4. We suppose that 

G 8T = Rs. 50 crore and = 0.6. The 
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1-b+b An induced tax function can be written 

as 
Y 1-b 

(1-b)+ 
increase in government spending by Rs. 50 crore 

will increase (1+G) function to (I+G+8G) but 

S+1) function will rise not by Rs. 50 crore 

ut by a little less i.e. b(8T) = 06x 50 = Rs. and t is the proportion of income that is taxed 

T To+ Y cxviin 

Here To is the amount of autonomous tax 

14 or the average or marginal propensity to tax 

that is assumed to remain constant considering 

that the tax is proportional.

crore. 
S+Td (6T) 

S+T 

K +G+5G 
Y C+I+G xix) 1+ 

50 

C Co+bYd -1+G In this sit 

C Co+ b(Y -T) ..XX) 

Substituting (rvii) into (x) constant frac- 
-x 

Yo Yn 
50 

Fig. 4 

income C Co+b (Y- To- Y) .xi) and therefon 

I= I .cxri) <1 but it i 



FISCAL AND MONETARY MULTIPLIERS 31 

G- .xit) - 06 and t = 030 and 8G Rs. 50 crore, the 

Substituting cquations (xxi), (xri) and (criin equilibrium income will increase by 

in equation (rix) 6Y -Kg.3G 
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0.40 040 

Y Cq+1+G-bT, 0.40 
5R 50 =0.69 x 50 .xxv) 

1-b+bt 
Rs. 34.50 crore. 

If the government increases the publicC 
expenditure by 8G and there is an equal amount If the government follows a policy of 

of tax (61) in order to keep the budget balanced, progressive taxation and t increases along with 

the increased equilibrium income can be an increase in income, bt will become still larger 

and the denominator 1+ being larger than 

what its magnitude was in case of proportional 

.xxvi) taxation, the balanced budget multiplier (Kg) 
will be still smaller. But any way, so long as b 

and t are positive, Kg will be positive and greater 

than zero and will have some expansionary 

bt 
expressed as 

Y-Cot1+G-bT) +86-b8T 
1-b+bt 

Subtracting (xxv) from (xxvi), we have 

Y-Y G-66G 
1-b+bt 

l:8T 8G] ..(crvin 
effect upon income. 

IN. Balanced Budget Multiplier with 
Induced Investment 

8Y ÖG(1-b) 
1-b+bt 

xxvii) 
In the study of balanced budget multiplier, 

we have followed so far the assumption that 

the private investment is autonomous in 

character. If the investment function is 

induced and taxes are autonomous of income, 

the magnitude of the balanced budget multüplier 
will be greater than unity and an increment in 

govemment spending will have a multiple eftecm 

1-b86 xix)6Y 
(1-6)+bt 

bt 
1 h 

1-b 

Kg ..xxx) upon the level of income. Kg under the above 
bt 

1b assumptions can be derived in the followin 
way 

In this situation, given b and t as the positive 
Y C+I+G 

C Co+bY ..xxi constant frctions. the denominator >1 
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